THAEE ABROLR(ERTIE)

R4425 |HHAEE BHEEOS)IRKRHEHEIS 1,710,000 |@#LLiK 4
R4.425 |THAGEE HNEZENAPERERBRIE 1,240,000 (&) kAR R4
R4425 |HHAEE BLEYHIMRHERETIS 1,120,000 |(%);RE74H R4
R46.14 (THAEE KESHEERFELSE 5,260,000 ()& Bk#R =g
R2.6.14 |HH4EE BTE LATIRGEFIELS 12,300,000 |#ta— B4
R47.1 [FH4EE ME/NMHEHEIE 3,410,000 |(LLIZK =2
RAT1 |BHAEE RIBETEERAXFERLISE 5,040,000 (@R 4 B B4
R4T1 |RH4FE RETEEBXRHFEEHFIE 6,300,000 [FI#k % fimtRim £ EFAT =g
R471 | SH4FE MEHMAAERBERRIE 10,050,000 (@)= T2 5% =2
R471 ([FHUGE HSBEAEBRAEXGEEEX MELRB/MRKRSERRISE 10,960,000 |/\E 2 REHFNE X IE =2
R47.1 |FH4EE AWBFKSHM - BEXREEFLIE 18,900,000 |fA R AL B EH =2
R47.26 |HFAGEE BRIMMEGERMFEEE KILOEEMEBARZELEDLLIE 4,353,000 fRtEER (&) =2
R47.26 |HFAGEE MMEXRNAHREREMERKEEBIS 1,920,000 ((#&)RE74E =g
R48.10 [HHMAEE HIEZ/ X ERFEHFELS 1,550,000 |¢R1LIZK =g
R4829 [HHMAEE ERAVTTUAEMEE IHBEREREEIE 44,200,000 |MWESMERAME XE =g
R4.104 |(THAEE MEAMBEZDI1MHIELIE 11,280,000 ((&)F 1L =E2
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R4.104 (HHAEE BREFRF =V RIBAHEMEIS 1,980,000 |(%)FREF4H 4
R4.104 (T4 BIE/NEFEEMR (R ERRRIE 3,390,000 |@RLIZK =g
RA.104 E§4$r§ HEERBHERERMEEE MERBENBRE (E2IR) HERR 8.510,000 |/\ B R B B 2 = tez
R4.10.24 |HHAEE BLERA)ISRN SHEBETE 5,750,000 |#Rta— R4
Ra114 [THAEE AWB/NFRFREERKRISE 11,600,000 ()& #1532 5% =g
R4.12.23 |HH4GEE FEMEREEHRRIRISE 2,500,000 ()& HE#AR =g
R4.12.23 |SF4FEK 21-1055 KA RIBRKEEIELE 10,760,000 (#H= F325% =g
R4.12.23 |HH4FEK 21-1065 TR - KEEIBLE 1,460,000 (#)1LI7K =g
R4.12.93 Egﬁﬁ‘“ K 21-1108HEEBIRIR =i, 21-1245 L EIR (2) X EH K EEIE 1,010,000 |B=E 48 e
R5.1.10 (FF4FE HMEXRARISKEERIBDIE 3,600,000 (#REFiE% RS
R5.1.10 [FH4FE HMEXRNR2SKEEIBIE 13,480,000 (#H= F325% =2
R5.1.10 [FH4FE HMEXRRNRISKEEIBIE 14,700,000 (@)= T2 5% =2
R5.1.10 |HHFI4FE MEXARI1SKEERIE 5,400,000 |#= 1% R
R5.1.10 (FFI4FE MEXMBHR2SKEERIBLE 34,400,000 |#)= T R
R5.1.10 (FF4FE HMER/RBISKEEIELE 2,800,000 (@R FE% R
R5.1.10 (FF4FE MEBER/RF2SKEEIBIE 10,400,000 |(#= FE % R
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o0 [FRIAEI 2 1ISENE 21 1128 ENR(2). 21-NISBTNR. 21-T4SRE. |11 900,000 [= 74/ o
R5.1.10 [FF4FEK F1445/NMION(EERE) ANIIKERIBEISE 14,680,000 ((&)FR LR =g
R5.1.10 |HF4EK F1455, 1465/MIDJII(ERE) AKX EEIBLE 33,980,000 |#+a— 54
R5.1.10 |HFI4FEK F1475 1485/NMIOJI(ER) ANIKEEIBISE 14,860,000 |()FxILIEEE% =g
R5.1.10 |HF4FEK F1495/MIBNINER) AIIKEEBLSE 3,720,000 |(#&)REFHE =g
R5.1.10 [FFI4F K F15085/MIDNN(EERE)AIKERIBEISE 17,430,000 (&) #1325% =g
R5.1.10 [FFI4FK F1515 ., 1525/MIONINEER)AIIKERIBISE 18,700,000 |#)5 #1325% =g
R5.1.10 |FH4FEK F1535/MIONI(ER) AIIKEEIBLSE 13,360,000 |#Hta— =g
R5.1.10 |HFI4F K FE1565KMRII(ER)FAIIKEERIE 4,360,000 |(#1LLIZK =2
R5.1.10 |HFI4FE FEHNMEERABRRIE 4,570,000 |)FxILIERER =2
R5.1.30 [§F4FEK F1545KMRN(ER)AIIKEERIEIE 7,100,000 (#RE SHA A B X & =2
R5.1.30 (RFN4FEK F1555 KRN (AR AIIKEEIBLE 10,050,000 |#= 1% RS
R5.1.30 [FHI4FEK F1575 2 RIN(ER)MIIKEEBISE 8,340,000 ()R ILIEER =g
R5.1.30 [FH4FK F2185E7RIN(EAR)MIKEEBIE 19,000,000 |#)5 #1325% =g
R5.1.30 |HH4FEK F2195 8RR (EFR) AINKEERIE 7,420,000 |#)t3— =g
R5.220 |HFI4FEK E555/NRII(ER) AIKEERIE 8,190,000 ()R ILIEER =E2
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R5.220 [wHI4FEK FE565 /MR (EF)ANKEEBISE 4,400,000 (@HLLIZK =g
R5.220 [FHI4FEK FE575/MRII(ER)ANKEEBISE 4,300,000 |@#RLIZK =g
R5.2.20 |fHN4EK H8BRANI(ER)ANIKEEHLSE 1,650,000 () 7R E74H R4
R5.220 [FHI4F K F158FHME/NIIORERKERIBIS 1,000,000 ()% #k#E a4
R5220 |&FN4EY F220SMBEARGERKEEIRIE 6,300,000 ()R EF4E B4
R5.220 (HFI4FEK 2215, 22250 E S/ XNEREBKEERIAISE 8,060,000 |#tza— 54
R5.220 |[HHMAEE ERAVTTUOAGEMEE EXBREEEISE 6,650,000 (#HE SHA A YK B X & =g
R5.3.22 |RHAEE AMBKESRX 5/ XIBBERREEXEEHISE 12,350,000 |1LiFE T 364 4
R53.22 (FF4FE MEEERBERISKEEEBISE 28,500,000 |(#)= FE2 % RS
R5322 (HH4FE MEEFAER2SKEFERISE 7,197,000 |#t3— =2
R5.322 |HHM4FEE MEEFAEMRISKEFEIELE 2,643,000 |#ta— =2
R5322 (HH4FE MEEFARMISKEERISE 8,721,000 |#)tza— =2
R5.322 |HHM4EE MELXRARISKEERIE 16,350,000 (@)= T2 5% R
R5.322 |HH4EE MELXRAMSSKEERIE 34,600,000 |#= T 2K R
R5.322 |HH4EE MER/RHEISKEEIBIE 15,960,000 (@)= T & 5% R
R5.322 |HHM4EE MER/RFISKEEIBIE 2,360,000 |#)=FEa& R
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